XXXII PENYBTMKAHCKA CTYOEHTCKA OTMMNUALA MO NPOTrPAMUPAHE
AYEl, bnaroesrpaga, 09.05.2020

3apaya A. MOAYJIHO COPTUPAHE

Jlanena e penuua aj, a,...,ay 0T N IeTU TOJ0XKHUTEIHNA YKcIa U ISUI0 TIOJOKHUTEIHO Yuciao m > 1,
Hanummere nporpama, KoSTO /1a COPTUpA peauiiaTa B HapacTBaIll peJ] CIPSMO OCTaThKa MOJIYYCH MPH
JIeTICHe Ha €JEMEHTUTE Ha M. AKO JBE YHWClia UMAT €IHAKBbB OCTAaThK, TOTaBa IO-MAJIKOTO YHCIIO
TpsiOBa J1a ObJIe MBPBO.

Bxoa: Ha mepBust pen Ha cTaHaapTHUS BXOA Iie ObJe 3a1a7eH OposiT Ha TECTOBETE. 3a BCEKH TECTOB
MpUMep CTAaHIAPTHUAT BXOJ ChAbpxka JBa pera. Ha mbpBust pen ca yucnata m u N, a Ha BTOpUs —
peauiara oT eI NOJIOKUTEITHU YMCiia, Pa3/IesIeHH C MHTEPBAJ.

H3xon: 3a Bcekn TECTOB MPUMEpP Ha €JIMH Pejl Ha CTaHJAapTHHS M3XOJl IIporpamara TpsioBa Ja U3Bele
€JIEMEHTUTE Ha COpTHpaHaTa peaulia, pas3AeieHH ¢ Mo eAuH uHTepBaid. Ciea NMOocIeaHOTO U3BEAEHO
YHCIIO HE TPsIOBa 1a ©Ma UHTEPBAL.

Orpannvenusi: N < 1000000, Bcuyky ocTaHaJIM YuCia ca OT THI int.

IHPUMEP

Bxogx H3xon
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Given a sequence aj, ay,...,ay Of N positive integers and a positive integer m > 1. Write a program that
sorts the sequence in ascending order by the remainder obtained by dividing the elements by m. If two
numbers have the same remainder, then the smaller number must be the first.

Input: The first line of the standard input will specify the number of tests. For each test case, the
standard input has two lines. On the first line are the numbers m and N, and on the second — the
sequence of positive integers, separated by an interval.

Output: For each test case, the program must output on a row of the standard output the elements of
the sorted sequence, separated by one interval. No interval after the last number.

Constraints: N < 1000000, all other numbers are of type int.



